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Integer Word Practice 

 

1) Chester Spender the Cheese-Maker hits the mall with an attitude and 
an open wallet. He spends $27 on a pair of jeans, $12 for some socks, 

$35 for a shirt and $22 on a tie. If he started the day with $100, will he 

still have enough money left over to buy a $5 turkey sandwich for 

lunch after all his other purchases?  

___________________________________________________________

___________________________________________________________ 

2) JZ is promoting a concert. He makes 200 copies of a flyer for the 

concert. The manager passes out 30 fliers. The bodyguard passes 

out 55 fliers. The lead producer passes out 40 fliers. How many fliers 
are left for the lead singer to pass out? 

___________________________________________________________

___________________________________________________________

___________________________________________________________ 

3) At the World’s Smallest Pie Eating Festival, there were only 2 

contestants. The first contestant ate 15 pies. The second contestant 

ate 17 pies. If there were 50 pies to begin with, how many are left?  

___________________________________________________________

___________________________________________________________

___________________________________________________________ 
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4) Josie Dean has a slight credit card problem. She has a bank balance 

of $500. If she spends $325 on one credit card and $450 a piece on 

two other credit cards, what will her bank balance be?  

___________________________________________________________

___________________________________________________________

___________________________________________________________ 

5) Roger Gilepski’s doorknob collection contains 325 doorknobs. If he 
gives away 50 doorknobs to his brother Harris, how many doorknobs 

does Harris have?  

___________________________________________________________

___________________________________________________________ 

___________________________________________________________ 

6) Jane has 5 dollars less than Jim. Jim has 10 dollars less than Elizabeth, 

who has 145 dollars. If Lisa has three dollars less than Jane, how 
many dollars does Lisa have?  

_________________________________________________________

_________________________________________________________ 

_________________________________________________________ 

 

 


